

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Rosemead Boulevard Interim Complete Streets

Project ID: RDC0016284

Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a Addenda: 1 Duration: 80 Day(s)

(1) Proliminary Pid Amount				Engin	eer's Estimate	. , ,	Company	(2) Los Angeles Engineering, Inc.		(3) Excel Paving Company		(4) Clarke Contractin Corporatio	
	eliminary Bid Amount					,	\$1,974,500.00	\$2,699,500.00		\$3,149,388.00		\$3,308,686.50	
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	3	\$500.00	MTH	\$1,500.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00	\$28,000.00	\$28,000.00
5	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
6	IMPLEMENTATION OF THE SWPPP	1	\$34,000.00	LS	\$34,000.00	\$54,500.00	\$54,500.00	\$25,000.00	\$25,000.00	\$38,000.00	\$38,000.00	\$80,000.00	\$80,000.00
7	PREPARATION OF THE DIVERSION OF WATER PLAN (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
8	IMPLEMENTATION OF THE DIVERSION OF WATER PLAN	1	\$40,000.00	LS	\$40,000.00	\$10,000.00	\$10,000.00	\$75,000.00	\$75,000.00	\$14,000.00	\$14,000.00	\$20,000.00	\$20,000.00
9	SHORING OF OPEN EXCAVATIONS	1	\$350,000.00	LS	\$350,000.00	\$7,500.00	\$7,500.00	\$284,711.00	\$284,711.00	\$9,000.00	\$9,000.00	\$75,000.00	\$75,000.00
10	OFFICE FACILITIES	4	\$1,500.00	MTH	\$6,000.00	\$12,000.00	\$48,000.00	\$3,000.00	\$12,000.00	\$4,000.00	\$16,000.00	\$3,500.00	\$14,000.00
11	MOBILIZATION	1	\$295,000.00	LS	\$295,000.00	\$162,000.00	\$162,000.00	\$270,000.00	\$270,000.00	\$298,000.00	\$298,000.00	\$300,000.00	\$300,000.00

Project ID: RDC0016284

Bids Opened: 2/7/2023

Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a

		Engine	eer's Estimate	(1) Sully-Mille	er Contracting Company	(2) Los Angeles	Engineering, Inc.	(3) Excel Pav	ring Company	(4) Clark	e Contracting Corporation		
(1) Pre	eliminary Bid Amount					\$	1,974,500.00	\$	\$2,699,500.00	\$	3,149,388.00	\$	3,308,686.50
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
12	CLEARING AND GRUBBING	1	\$40,000.00	LS	\$40,000.00	\$25,000.00	\$25,000.00	\$74,500.00	\$74,500.00	\$123,000.00	\$123,000.00	\$120,000.00	\$120,000.00
13	TREE REMOVAL (13"-24" DIAMETER)	1	\$2,500.00	EA	\$2,500.00	\$800.00	\$800.00	\$4,000.00	\$4,000.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00
14	TREE REMOVAL (25"+ DIAMETER)	1	\$4,750.00	EA	\$4,750.00	\$1,500.00	\$1,500.00	\$8,000.00	\$8,000.00	\$6,500.00	\$6,500.00	\$6,000.00	\$6,000.00
15	REMOVE EXISTING CHAIN LINK FENCE	1730	\$25.00	LF	\$43,250.00	\$15.00	\$25,950.00	\$15.00	\$25,950.00	\$9.00	\$15,570.00	\$6.00	\$10,380.00
16	REMOVE AND DISPOSE CHAIN LINK GATE	2	\$600.00	EA	\$1,200.00	\$500.00	\$1,000.00	\$900.00	\$1,800.00	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00
17	CONCRETE REMOVAL (NON- REINFORCED)	96	\$400.00	CY	\$38,400.00	\$150.00	\$14,400.00	\$125.00	\$12,000.00	\$250.00	\$24,000.00	\$190.00	\$18,240.00
18	CONCRETE REMOVAL (REINFORCED)	1	\$500.00	CY	\$500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$220.00	\$220.00
19	REMOVE AND DISPOSE BOLLARD	1	\$430.00	EA	\$430.00	\$800.00	\$800.00	\$250.00	\$250.00	\$400.00	\$400.00	\$500.00	\$500.00
20	REMOVE 18 " CSP	58	\$100.00	LF	\$5,800.00	\$70.00	\$4,060.00	\$50.00	\$2,900.00	\$50.00	\$2,900.00	\$145.00	\$8,410.00
21	UNCLASSIFIED EXCAVATION	1881	\$204.00	CY	\$383,724.00	\$55.75	\$104,865.75	\$160.00	\$300,960.00	\$148.00	\$278,388.00	\$150.00	\$282,150.00
22	STRUCTURE EXCAVATION (RETAINING WALL)	1706	\$250.00	CY	\$426,500.00	\$75.00	\$127,950.00	\$85.00	\$145,010.00	\$58.00	\$98,948.00	\$180.00	\$307,080.00
23	STRUCTURE BACKFILL (RETAINING WALL)	1457	\$275.00	CY	\$400,675.00	\$85.00	\$123,845.00	\$75.00	\$109,275.00	\$76.00	\$110,732.00	\$58.00	\$84,506.00
24	CRUSHED MISCELLANEOUS BASE	135	\$150.00	CY	\$20,250.00	\$100.00	\$13,500.00	\$160.00	\$21,600.00	\$129.00	\$17,415.00	\$100.00	\$13,500.00
25	COLD MILL AC PAVEMENT (0 - 1-1/2")	13133	\$1.00	SF	\$13,133.00	\$1.00	\$13,133.00	\$2.00	\$26,266.00	\$1.00	\$13,133.00	\$4.00	\$52,532.00
26	AC CURB, TYPE D1-8	58	\$45.00	LF	\$2,610.00	\$65.00	\$3,770.00	\$60.00	\$3,480.00	\$54.00	\$3,132.00	\$125.00	\$7,250.00
27	AC CURB, TYPE D1-VAR	28	\$50.00	LF	\$1,400.00	\$90.00	\$2,520.00	\$60.00	\$1,680.00	\$54.00	\$1,512.00	\$125.00	\$3,500.00
28	AC PAVEMENT	1175	\$250.00	TON	\$293,750.00	\$130.00	\$152,750.00	\$150.00	\$176,250.00	\$234.00	\$274,950.00	\$200.00	\$235,000.00
29	AC PAVEMENT(PATCH BACK)	69	\$400.00	TON	\$27,600.00	\$250.00	\$17,250.00	\$350.00	\$24,150.00	\$300.00	\$20,700.00	\$325.00	\$22,425.00
30	AC PAVEMENT(DRIVEWAYS)	24	\$350.00	TON	\$8,400.00	\$200.00	\$4,800.00	\$400.00	\$9,600.00	\$320.00	\$7,680.00	\$410.00	\$9,840.00
31	PCC PAVEMENT	20	\$600.00	CY	\$12,000.00	\$680.00	\$13,600.00	\$650.00	\$13,000.00	\$1,200.00	\$24,000.00	\$700.00	\$14,000.00
32	REINFORCED CONCRETE RETAINING WALL TYPE 6 - CALTRANS	294	\$2,000.00	CY	\$588,000.00	\$1,200.00	\$352,800.00	\$1,450.00	\$426,300.00	\$1,500.00	\$441,000.00	\$1,200.00	\$352,800.00

Project ID: RDC0016284

Bids Opened: 2/7/2023

Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a

(4) Dualinain am Did Amazunt		Engine	eer's Estimate	. , .	Company	(2) Los Angeles	Inc.	(3) Excel Pav	ing Company	, ,	e Contracting Corporation		
(1) Pre	eliminary Bid Amount					\$	1,974,500.00	\$	2,699,500.00	\$3,149,388.00		\$3,308,686.50	
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
33	PCC CURB, TYPE A1-6	35	\$60.00	LF	\$2,100.00	\$65.00	\$2,275.00	\$130.00	\$4,550.00	\$57.00	\$1,995.00	\$40.00	\$1,400.00
34	PCC CURB, TYPE A1-8	3076	\$55.00	LF	\$169,180.00	\$30.00	\$92,280.00	\$25.00	\$76,900.00	\$45.00	\$138,420.00	\$40.00	\$123,040.00
35	PCC CURB, TYPE A1-MOD	2247	\$60.00	LF	\$134,820.00	\$20.00	\$44,940.00	\$17.00	\$38,199.00	\$46.00	\$103,362.00	\$42.00	\$94,374.00
36	PCC WALK, 4" THICK	919	\$12.00	SF	\$11,028.00	\$10.00	\$9,190.00	\$9.00	\$8,271.00	\$14.00	\$12,866.00	\$16.00	\$14,704.00
37	PCC CURB RAMPS	7	\$1,500.00	CY	\$10,500.00	\$2,500.00	\$17,500.00	\$2,200.00	\$15,400.00	\$2,500.00	\$17,500.00	\$3,500.00	\$24,500.00
38	CASE CM CURB RAMP	1	\$1,630.00	ĒΑ	\$1,630.00	\$4,500.00	\$4,500.00	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00	\$4,500.00	\$4,500.00
39	DETECTABLE WARNING	140	\$65.00	SF	\$9,100.00	\$65.00	\$9,100.00	\$40.00	\$5,600.00	\$64.00	\$8,960.00	\$75.00	\$10,500.00
	SURFACE												
40	METAL HAND RAILINGS PER STD PLAN 606	169	\$300.00	LF	\$50,700.00	\$145.00	\$24,505.00	\$175.00	\$29,575.00	\$241.00	\$40,729.00	\$320.00	\$54,080.00
41	CHAIN LINK FENCE, 5' HIGH	1284	\$100.00	LF	\$128,400.00	\$39.67	\$50,936.28	\$50.00	\$64,200.00	\$42.00	\$53,928.00	\$53.00	\$68,052.00
42	CHAIN LINK FENCE, 5' HIGH	456	\$180.00	LF	\$82,080.00	\$43.25	\$19,722.00	\$50.00	\$22,800.00	\$39.00	\$17,784.00	\$51.00	\$23,256.00
	ON TOP OF WALL												
43	ROLLING CHAIN LINK GATE	2	\$5,000.00	EA	\$10,000.00	\$22,100.00	\$44,200.00	\$10,000.00	\$20,000.00	\$25,000.00	\$50,000.00	\$23,000.00	\$46,000.00
44	TRANSPORTATION AND DISPOSAL OF TREATED WOOD WASTE	9370	\$5.00	LB	\$46,850.00	\$1.12	\$10,494.40	\$1.00	\$9,370.00	\$4.00	\$37,480.00	\$1.50	\$14,055.00
45	18" RCP, 2500 D	65	\$700.00	LF	\$45,500.00	\$415.00	\$26,975.00	\$300.00	\$19,500.00	\$230.00	\$14,950.00	\$750.00	\$48,750.00
46	FILTRATION TRENCH	1856	\$115.00	LF	\$213,440.00	\$62.00	\$115,072.00	\$78.00	\$144,768.00	\$159.00	\$295,104.00	\$140.00	\$259,840.00
47	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	1239	\$12.50	LF	\$15,487.50	\$13.00	\$16,107.00	\$15.00	\$18,585.00	\$13.00	\$16,107.00	\$20.00	\$24,780.00
48	DETAIL 1 (MODIFIED) (THERMOPLASTIC)	3180	\$1.50	LF	\$4,770.00	\$0.86	\$2,734.80	\$1.00	\$3,180.00	\$1.00	\$3,180.00	\$2.00	\$6,360.00
49	DETAIL 9 (THERMOPLASTIC)	880	\$2.00	LF	\$1,760.00	\$0.75	\$660.00	\$0.80	\$704.00	\$1.00	\$880.00	\$2.00	\$1,760.00
50	DETAIL 27 (THERMOPLASTIC)	645	\$3.00	LF	\$1,935.00	\$1.43	\$922.35	\$1.50	\$967.50	\$2.00	\$1,290.00	\$1.50	\$967.50
51	DETAIL 27B (THERMOPLASTIC)	7100	\$1.50	LF	\$10,650.00	\$0.86	\$6,106.00	\$1.00	\$7,100.00	\$1.00	\$7,100.00	\$1.50	\$10,650.00
52	DETAIL 38 (THERMOPLASTIC)	350	\$3.00	LF	\$1,050.00	\$1.15	\$402.50	\$1.30	\$455.00	\$1.00	\$350.00	\$2.00	\$700.00
53	PAVEMENT MARKINGS (THERMOPLASTIC)	177	\$7.50	SF	\$1,327.50	\$8.61	\$1,523.97	\$9.00	\$1,593.00	\$8.00	\$1,416.00	\$9.00	\$1,593.00
54	4" STRIPING (THERMOPLASTIC)	105	\$1.50	LF	\$157.50	\$0.57	\$59.85	\$0.60	\$63.00	\$1.00	\$105.00	\$1.00	\$105.00

Project ID: RDC0016284

Rids Opened: 2/7/2023

Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a

			Engine	eer's Estimate	(1) Sully-Mill	er Contracting Company	(2) Los Angele	s Engineering, Inc.	(3) Excel Pav	ring Company	(4) Clark	ce Contracting Corporation	
(1) Pre	eliminary Bid Amount						\$1,974,500.00	\$2,699,500.00		\$3,149,388.00		\$3,308,686.50	
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
55	8" STRIPING (THERMOPLASTIC)	635	\$2.50	LF	\$1,587.50	\$1.15	\$730.25	\$1.20	\$762.00	\$1.00	\$635.00	\$2.00	\$1,270.00
56	12" STRIPING (THERMOPLASTIC)	200	\$4.00	LF	\$800.00	\$3.44	\$688.00	\$4.00	\$800.00	\$3.00	\$600.00	\$4.00	\$800.00
57	24" STRIPING (THERMOPLASTIC)	1320	\$7.00	LF	\$9,240.00	\$6.89	\$9,094.80	\$8.00	\$10,560.00	\$6.00	\$7,920.00	\$8.00	\$10,560.00
58	CURB MARKINGS (ONE- COAT PAINT)	130	\$3.50	LF	\$455.00	\$4.02	\$522.60	\$4.50	\$585.00	\$4.00	\$520.00	\$5.00	\$650.00
59	REMOVE PAVEMENT MARKINGS (THERMOPLASTIC)	45	\$3.00	SF	\$135.00	\$2.01	\$90.45	\$2.20	\$99.00	\$2.00	\$90.00	\$2.00	\$90.00
60	REMOVE STRIPING (THERMOPLASTIC)	4401	\$2.00	LF	\$8,802.00	\$1.43	\$6,293.43	\$1.50	\$6,601.50	\$2.00	\$8,802.00	\$2.00	\$8,802.00
61	SIGN PANEL	23	\$200.00	EA	\$4,600.00	\$109.02	\$2,507.46	\$120.00	\$2,760.00	\$95.00	\$2,185.00	\$125.00	\$2,875.00
62	RELOCATE SIGN	10	\$160.00	EA	\$1,600.00	\$86.07	\$860.70	\$100.00	\$1,000.00	\$75.00	\$750.00	\$90.00	\$900.00
63	REMOVE SIGN	4	\$100.00	EA	\$400.00	\$57.38	\$229.52	\$60.00	\$240.00	\$50.00	\$200.00	\$60.00	\$240.00
64	RELOCATE SIGN POST	9	\$200.00	EA	\$1,800.00	\$200.83	\$1,807.47	\$220.00	\$1,980.00	\$180.00	\$1,620.00	\$200.00	\$1,800.00
65	SIGN POST (ROADSIDE SIGN)	9	\$300.00	EA	\$2,700.00	\$315.60	\$2,840.40	\$350.00	\$3,150.00	\$300.00	\$2,700.00	\$300.00	\$2,700.00
66	TRAFFIC CONTROL	1	\$115,000.00	LS	\$115,000.00	\$120,235.02	\$120,235.02	\$75,000.00	\$75,000.00	\$397,000.00	\$397,000.00	\$350,000.00	\$350,000.00
67	NON-SLIP MATERIAL ON METAL VAULT COVER	3	\$200.00	EA	\$600.00	\$1,200.00	\$3,600.00	\$3,500.00	\$10,500.00	\$6,500.00	\$19,500.00	\$900.00	\$2,700.00
Unit Price Total			9	64,165,057.00		\$1,974,500.00		\$2,699,500.00	9	3,149,388.00	Ç	\$3,308,686.50	
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00	
(4) LS	(4) LSBE/DVBE/SE Adjusted Amount						\$1,974,500.00	\$2,699,500.00		\$3,149,388.00		\$3,308,686.50	
	Comments					RELI	EF FROM BID	APPARENT	LOW BIDDER			NON F	RESPONSIVE



Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Rosemead Boulevard Interim Complete Streets

Project ID: RDC0016284 Bids Opened: 2/7/2023

Project Manager: Al Azhang n/a

		Engine	eer's Estimate	(5) Acces	s Pacific, Inc.	(6) All Ame	erican Asphalt						
(1) Pre	eliminary Bid Amount					\$	3,385,473.68	\$	3,392,290.30				
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00				
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	3	\$500.00		\$1,500.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00				
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$20,250.00	\$20,250.00	\$32,500.00	\$32,500.00				
5	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00				
6	IMPLEMENTATION OF THE SWPPP	1	\$34,000.00	LS	\$34,000.00	\$54,000.00	\$54,000.00	\$28,000.00	\$28,000.00				
7	PREPARATION OF THE DIVERSION OF WATER PLAN (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00				
8	IMPLEMENTATION OF THE DIVERSION OF WATER PLAN	1	\$40,000.00	LS	\$40,000.00	\$54,000.00	\$54,000.00	\$50,000.00	\$50,000.00				
9	SHORING OF OPEN EXCAVATIONS	1	\$350,000.00	LS	\$350,000.00	\$135,000.00	\$135,000.00	\$2,500.00	\$2,500.00				
10	OFFICE FACILITIES	4	\$1,500.00	MTH	\$6,000.00	\$4,725.00	\$18,900.00	\$6,500.00	\$26,000.00				

Project ID: RDC0016284

Bids Opened: 2/7/2023

Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a

				Engine	eer's Estimate	(5) Acces	s Pacific, Inc.	(6) All Ame	erican Asphalt				
(1) Pre	eliminary Bid Amount					\$	3,385,473.68	\$	3,392,290.30				
(2) Un	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
11	MOBILIZATION	1	\$295,000.00	LS	\$295,000.00	\$305,000.00	\$305,000.00	\$280,000.00	\$280,000.00		1		
12	CLEARING AND GRUBBING	1	\$40,000.00	LS	\$40,000.00	\$50,000.00	\$50,000.00	\$165,000.00	\$165,000.00				
13	TREE REMOVAL (13"-24" DIAMETER)	1	\$2,500.00	EA	\$2,500.00	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00				
14	TREE REMOVAL (25"+ DIAMETER)	1	\$4,750.00	EA	\$4,750.00	\$4,050.00	\$4,050.00	\$6,000.00	\$6,000.00				
15	REMOVE EXISTING CHAIN LINK FENCE	1730	\$25.00	LF	\$43,250.00	\$6.00	\$10,380.00	\$11.00	\$19,030.00				
16	REMOVE AND DISPOSE CHAIN LINK GATE	2	\$600.00	EA	\$1,200.00	\$1,012.50	\$2,025.00	\$700.00	\$1,400.00				
17	CONCRETE REMOVAL (NON- REINFORCED)	96	\$400.00	CY	\$38,400.00	\$472.50	\$45,360.00	\$365.00	\$35,040.00				
18	CONCRETE REMOVAL (REINFORCED)	1	\$500.00	CY	\$500.00	\$1,350.00	\$1,350.00	\$2,500.00	\$2,500.00				
19	REMOVE AND DISPOSE BOLLARD	1	\$430.00	EA	\$430.00	\$472.50	\$472.50	\$1,000.00	\$1,000.00				
20	REMOVE 18 " CSP	58	\$100.00	LF	\$5,800.00	\$337.50	\$19,575.00	\$185.00	\$10,730.00				
21	UNCLASSIFIED EXCAVATION	1881	\$204.00	CY	\$383,724.00	\$121.50	\$228,541.50	\$115.00	\$216,315.00				
22	STRUCTURE EXCAVATION (RETAINING WALL)	1706	\$250.00	CY	\$426,500.00	\$121.50	\$207,279.00	\$105.00	\$179,130.00				
23	STRUCTURE BACKFILL (RETAINING WALL)	1457	\$275.00	CY	\$400,675.00	\$121.50	\$177,025.50	\$205.00	\$298,685.00				
24	CRUSHED MISCELLANEOUS BASE	135	\$150.00	CY	\$20,250.00	\$202.50	\$27,337.50	\$165.00	\$22,275.00				
25	COLD MILL AC PAVEMENT (0 - 1-1/2")	13133	\$1.00	SF	\$13,133.00	\$1.01	\$13,264.33	\$1.60	\$21,012.80				
26	AC CURB, TYPE D1-8	58	\$45.00	LF	\$2,610.00	\$60.75	\$3,523.50	\$85.00	\$4,930.00				
27	AC CURB, TYPE D1-VAR	28	\$50.00	LF	\$1,400.00	\$60.75	\$1,701.00	\$85.00	\$2,380.00				
28	AC PAVEMENT	1175	\$250.00	TON	\$293,750.00	\$182.25	\$214,143.75	\$125.00	\$146,875.00				
29	AC PAVEMENT(PATCH BACK)	69	\$400.00	TON	\$27,600.00	\$371.25	\$25,616.25	\$310.00	\$21,390.00				
30	AC PAVEMENT(DRIVEWAYS)	24	\$350.00	TON	\$8,400.00	\$303.75	\$7,290.00	\$405.00	\$9,720.00				
31	PCC PAVEMENT	20	\$600.00	CY	\$12,000.00	\$1,350.00	\$27,000.00	\$1,750.00	\$35,000.00				
32	REINFORCED CONCRETE RETAINING WALL TYPE 6 - CALTRANS	294	\$2,000.00	CY	\$588,000.00	\$2,025.00	\$595,350.00	\$2,750.00	\$808,500.00				

Project ID: RDC0016284 Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a

		Engin	eer's Estimate	(5) Acces	s Pacific, Inc.	(6) All Ame	erican Asphalt						
(1) Pre	liminary Bid Amount					\$	3,385,473.68	\$	3,392,290.30				
	t Price Detail												
<u>ltem</u>	Description	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
33	PCC CURB, TYPE A1-6	35	\$60.00	LF	\$2,100.00	\$60.75	\$2,126.25	\$50.00	\$1,750.00				
34	PCC CURB, TYPE A1-8	3076	\$55.00	LF	\$169,180.00	\$60.75	\$186,867.00	\$30.00	\$92,280.00				
35	PCC CURB, TYPE A1-MOD	2247	\$60.00	LF	\$134,820.00	\$60.75	\$136,505.25	\$28.00	\$62,916.00				
36	PCC WALK, 4" THICK	919	\$12.00	SF	\$11,028.00	\$17.55	\$16,128.45	\$20.00	\$18,380.00				
37	PCC CURB RAMPS	7	\$1,500.00	CY	\$10,500.00	\$1,350.00	\$9,450.00	\$1,300.00	\$9,100.00				
38	CASE CM CURB RAMP	1	\$1,630.00	EA	\$1,630.00	\$10,125.00	\$10,125.00	\$5,000.00	\$5,000.00				
39	DETECTABLE WARNING SURFACE	140	\$65.00	SF	\$9,100.00	\$67.50	\$9,450.00	\$150.00	\$21,000.00				
40	METAL HAND RAILINGS PER	169	\$300.00	LF	\$50,700.00	\$259.20	\$43,804.80	\$150.00	\$25,350.00				
	STD PLAN 606												
41	CHAIN LINK FENCE, 5' HIGH	1284	\$100.00	LF	\$128,400.00	\$60.75	\$78,003.00	\$43.00	\$55,212.00				·
42	CHAIN LINK FENCE, 5' HIGH ON TOP OF WALL	456	\$180.00	LF	\$82,080.00	\$79.25	\$36,138.00	\$41.00	\$18,696.00				
43	ROLLING CHAIN LINK GATE	2	\$5,000.00	EA	\$10,000.00	\$11,981.25	\$23,962.50	\$5,500.00	\$11,000.00				
44	TRANSPORTATION AND	9370	\$5.00	LB	\$46,850.00	\$4.05	\$37,948.50	\$1.80	\$16,866.00				
	DISPOSAL OF TREATED												
	WOOD WASTE												
45	18" RCP, 2500 D	65	\$700.00	LF	\$45,500.00	\$675.00	\$43,875.00	\$205.00	\$13,325.00				
46	FILTRATION TRENCH	1856	\$115.00	LF	\$213,440.00	\$135.00	\$250,560.00	\$135.00	\$250,560.00				
47	INDUCTIVE LOOP DETECTOR	1239	\$12.50	LF	\$15,487.50	\$17.55	\$21,744.45	\$15.00	\$18,585.00				
	AND LEADS SAW CUT												
48	DETAIL 1 (MODIFIED) (THERMOPLASTIC)	3180	\$1.50	LF	\$4,770.00	\$1.01	\$3,211.80	\$1.00	\$3,180.00				
49	DETAIL 9 (THERMOPLASTIC)	880	\$2.00	LF	\$1,760.00	\$0.88	\$774.40	\$0.75	\$660.00				
50	DETAIL 27 (THERMOPLASTIC)	645	\$3.00	LF	\$1,935.00	\$1.69	\$1,090.05	\$1.50	\$967.50				
51	DETAIL 27B	7100	\$1.50	LF	\$10,650.00	\$1.01	\$7,171.00	\$1.00	\$7,100.00				
	(THERMOPLASTIC)												
52	DETAIL 38 (THERMOPLASTIC)	350	\$3.00	LF	\$1,050.00	\$1.35	\$472.50	\$1.10	\$385.00				
53	PAVEMENT MARKINGS (THERMOPLASTIC)	177	\$7.50	SF	\$1,327.50	\$10.13	\$1,793.01	\$9.00	\$1,593.00				
54	4" STRIPING	105	\$1.50	LF	\$157.50	\$0.68	\$71.40	\$1.00	\$105.00				
	(THERMOPLASTIC)												
55	8" STRIPING	635	\$2.50	LF	\$1,587.50	\$1.35	\$857.25	\$1.10	\$698.50				
	(THERMOPLASTIC)												

Project ID: RDC0016284

Bids Opened: 2/7/2023

Comments

Bids Opened: 2/7/2023 Project Manager: Al Azhang n/a

		Engin	eer's Estimate	(5) Acces	ss Pacific, Inc.	(6) All An	nerican Asphalt						
(1) Pre	liminary Bid Amount					9	3,385,473.68		\$3,392,290.30				
(2) Uni	t Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
56	12" STRIPING	200	\$4.00	LF	\$800.00	\$4.05	\$810.00	\$3.30	\$660.00				
	(THERMOPLASTIC)												
57	24" STRIPING	1320	\$7.00	LF	\$9,240.00	\$8.10	\$10,692.00	\$6.60	\$8,712.00				
	(THERMOPLASTIC)												
58	CURB MARKINGS (ONE-COAT	130	\$3.50	LF	\$455.00	\$4.72	\$613.60	\$4.00	\$520.00				
	PAINT)												
59	REMOVE PAVEMENT	45	\$3.00	SF	\$135.00	\$2.36	\$106.20	\$2.00	\$90.00				
	MARKINGS (THERMOPLASTIC)												
60	REMOVE STRIPING	4401	\$2.00	LF	\$8,802.00	\$1.69	\$7,437.69	\$1.50	\$6,601.50				
	(THERMOPLASTIC)												
61	SIGN PANEL	23	\$200.00	EA	\$4,600.00	\$128.25	\$2,949.75	\$105.00	\$2,415.00				
62	RELOCATE SIGN	10	\$160.00	EA	\$1,600.00	\$101.25	\$1,012.50	\$85.00	\$850.00				
63	REMOVE SIGN	4	\$100.00	EA	\$400.00	\$67.50	\$270.00	\$55.00	\$220.00				
64	RELOCATE SIGN POST	9	\$200.00	EΑ	\$1,800.00	\$236.25	\$2,126.25	\$195.00	\$1,755.00				
65	SIGN POST (ROADSIDE SIGN)	9	\$300.00	EA	\$2,700.00	\$371.25	\$3,341.25	\$305.00	\$2,745.00				
66	TRAFFIC CONTROL	1	\$115,000.00	LS	\$115,000.00	\$162,000.00	\$162,000.00	\$280,000.00	\$280,000.00				
67	NON-SLIP MATERIAL ON	3	\$200.00	EA	\$600.00	\$1,350.00	\$4,050.00	\$2,500.00	\$7,500.00				
	METAL VAULT COVER												
Unit Pr	ice Total				\$4,165,057.00	9	3,385,473.68		\$3,392,290.30				
(3) LSE	BE/DVBE/SE Preference Amount						\$150,000.00		\$0.00				
(4) LSE	BE/DVBE/SE Adjusted Amount					9	3,235,473.68		\$3,392,290.30				